


Select the correct mirror image of
the given figure when the mirror
is held at the right side.

o4 QUUT &I qlfel IR I&T STl
g, d @ ¥ SR AHfA o TS



Serena starts from the court after
her tennis match in Delhi and
drives 2 km towards north and
then she turns to the right and
drives 24 km. Then, she turns to
the left and drives 6 km, after
this she again turns to the left
and drives 30 km and reaches her
town. What is the shortest
distance between her town and
the tennis court in Delhi and in
which direction is her town from
the tennis court?

L, ool # o9 2R B9 @



(b) 6 m; South-west
\,KT 10 m; North-west
(d) 10 m; South-east

S



Select the option that is related
to the third term in the same way
as the second term is related to
the first term and the sixth term

ii:el_a‘:%d to the fifth tqf_'m= o

e 152 2435 : ? :: 319 : 209
99 AP &1 T BN off RN US 9
Ul N8 Hafdd 3 forg TRE T U
Ugd U ¥ 3R BT US UEd Ug 9@

Heferd & |
32:152:435:? :: 319 : 209
a) 245 (b) 192
85 (d) 425 ,?
Wy~ urgs a

\4— (¢



Select the figure form among the

given options that can replace the

’Ja Er question mark (?) in the following
b ﬁ b series.

IY ITHIA BT T BN Sl Hra q Ty
gEar d ued e (?) & W\ W o

pdl 2 |
- {cl -
M -
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Select the set in which the
numbers are related in the same
way as are the numbers of the
following sets.

(NOTE: Operations should be
performed on the whole numbers,
without breaking down the
numbers into its constituent
digits. E.g. 13-Operations on 13
such as adding /deleting/
multiplying etc. to 13 can be
performed. Breaking down 13 into
1 and 3 and then performing
mathematical operations on 1 and
3 is not allowed)

(30, 10, 24)

(520, 350, 504)



3
’32+ 3 2 3-3

Bre Tt -3

2 TR 95 (D)

(30, 10, 24)
520, 350, 504)
a) (72, 130, 64)
(b) (120, 24, 38)
(c) (350, 262, 338)x

_(9)1738,520,720)



Select the set in which numbers
are related in the same way as are
the numbers of the following sets.

(NOTE : Operations should be
performed on the whole numbers,
without breaking down the
numbers into its constituent
digits. E.g. 13 - Operations on 13
such as addling/ deleting/
multiplying etc. to 13 can be
performed. Breaking down 13 into
1 and 3 and then performing
mathematical operations on 1 and
3 is not allowed)

(16, 264, 288)

(12, 150, 168)



(16, 264, 288)

2, 150, 168)

a) (9, 90, 98) (b4, 18, 24)

(c) (6, 42, 48) (d) (15, 230, 260)
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If T = 50, CAN = 45, then ‘FEAT’
will be equal to?

gfe T = 50, CAN = 45, &, @ ‘FEAT’

fhad REx BI?
(a) 90 (b) 70
e 80 (d) 64



I. To ensure their survival, the

igrated villagers should be given
access to all housing options in
urban areas.

In this questinh, a statement is
followed by two courses of action,
numbered I and II. You must
assume everything in the
statement to be true and on the
basis of the information given in
the statement, decide which
course of action/s logically
follows for pursuing.

Statement: There is a large
increase in migration of villagers
to urban areas as repeated crop
failure has put them into financial
problems
Coysse of action:

he villagers should be provided
with an alternate source of

income in their villages which will
make them stay there only.



(a) Only II follows
(b) Both I and II follow

CALGIED|F

I. UTON Y S99 TMdl J A BT (b
dofous Wad ueM fear s=r =anfav
aifd 9 981 < |

. 999 3Raw @ ghaa & @
forg, faenfoa umion @1 w89 a3 |

(c) Neither I nor II follows G IES] $ 9] ﬁﬁcﬁ' G2 qgi[ G|

~1d)LOnly I follows
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(a) Data in statement I alone is
sufficient to answer the question

while data in statement II is not

ﬂData in either statement I
alone or statement II alone is

sufficient to answer the question
(c) Data in statements I and II
together is sufficient to answer

the question

(d) Data in statement II alone is
sufficient to answer the question
while data in statement I is not.

D

\

A question is given, followed by
two statements numbered (I) and
(II). You have to decide whether
the data provided in the
statements is sufficient to answer
the question. Read both the
statements and select the
appropriate answer.

Question: A, B, C and D are sitting
around a circular table facing the
centre. Who sits to the immediate
right of A?

Statements:

(I) C sits to the immediate left of

nA; only one person sits between C

and D.

(II) Only one person site between
A and B; C sits to the immediate
right of B.



(b) AT & U ¥ fagr T TreT B A [P U 3R IHD 91§ I HUA
1 U 11 § faar 11 S1eT 3w HHie () R () v v €| smud

P SR o1 P forv gaiqg 2|

(¢) U 1 3R II a1 # f&ar
STeT AedR U39 &7 STx <9 @ forg
g 8

(d) I I # faar Tar S1er 3da
99 HT SR o1 & forg g 8
oiefd HY= | faar ar| 1 srer g9
HT SR <1 & forg gaia =81 2 |
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In a certain code language,
‘CROSS’ is written as ‘66’ and
‘CHART’ is written as ‘90°° how
6‘6 will ‘SYMBOL’ be written in that
language ?

s fARed @ W H, ‘CROSS’ &I
‘66’ for@r W1 8 3R ‘CHART® &I
'90’ for@r iar g1 Sl WWNT H
‘SYMBOL’ &I &9 for@r Sgn?

{182 (b) 93
%F‘FIT c) 76 (d) 88 @
Ho‘l'_ﬂf (Qr\»u_,



Select the option that represents
the letters that, when placed form
left to right in the following
blanks, will complete the letter-
series.

"VJRWB RWBVL W
99 iPeT &1 w99 = Gﬁ 99 3ERI

&1 ufaffera svar g, o f=foiea

R Il 4 97 9§ W W& T ®

AR~ X &1 g |
vaﬁzgﬂ RV{BVL BV_ W
L-{a) BVKRWMR

(b) AVKRWMR

(c) AVKRXNR
(d) BWKRWMR



» *

> % Figure A is related to B in a
66 M e certain pattern. Following the
s® ® : same pattern, figure C is related

= D v to D. Study the pattern and select

(B) © D) the figure which should be placed

in place of D.

rpfa A T fAf¥=a ded 9 seafd B
Q D 9 gefd 2| Sl Ued @1 e
y HR 8Y, AHIA C AMHIA D | weferd
2 g1 Yed &1 sremma HIfvw ik o9
MBI BT Tg4 HIfoig B D & ®©IF

D UR &1 &7 A1y |

(c).




Out of the following five figures,
four are alike in some manner and
one differs from these in that
manner. Select the odd figure.

A & TE g arefdl ¥ ¥ WK
fodl UoR ¥ Ud 99F B 3R @
ﬁm 2| S G MBI BT 9T

|




Out of the following five figures,

four are alike in same manner and
@ @ @ @ one differs from these in that

manner. Select the odd figure.

A" Qg Ui APpfadl H 9 AR
frd voR 9 & 99H 3R ®
FET B | O G AP BT I

[S][C

O]



In the following question, the
Statement is followed by two
conclusions. Which of the two
conclusions is/are true?

Statement: M <k>I<J>H=0G

s ¥
I.H=F
II.J> G

9 U H, (3 YF P 915 o frsed
feg g €| <4 4 | B A/9
frspd @ 8 /87
PHY-:
M<k>I<J>H=G < F

)‘ IL. H=F
I.J>G
(a) Only conclusion I is true
(b) Both conclusions I and II are
true

\~c Only conclusion II is true

(d) Neither conclusion I nor II is
true



Each of A, B, C, D, E, F and G has
an exam on a different day of a
week starting from Monday and
ending on Sunday of the same
week. A has an exam on
Wednesday. Only one person has
an exam between A and B. D has
an exam on the day immediately
before B. Only one person has an
exam between F and B. G’s exam
is on one of the days before A but
on one of the days after C. On
which day does G have an exam?
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(a) Friday

bFTuesday

(d) Wednesday

(c) Monday



Out of the following five figures,

four are alike in some manner and
.@ one differs from these in that

manner. Select the odd figure.

A q g U ol H W IR

P YR W U6 9HH © IR [P
T%lwmﬂﬁmmm
|

@ | o/ \@ (c) /\|
@)
o & &
% #
(d)




Figure A is related to B following

Q Cl o I Dl & & ‘)c‘i M a certain pattern. Following the
O o & OD 8 & — @ ? same pattern, figure C is related
D | C O £l © to D. Study the pattern and select

J - ) the figure which should be placed
A B C D in place of D.

IPHfa A TP fARR=a e & I uR B
q Heftrd 8| S Ued BT SR
HXd §Y PG C, D W Hafg T
Yo &7 Iugs HN AR T AHA BT
99 By, O D & ®RIM W @1 ST

=R |




Seven persons are sitting around
a circular dining table facing the
towards the centre. S is sitting to
the immediate left of Y and third
to the right of R. R is sitting to
the immediate left of A and
immediate right of P. A is sitting
to the immediate left of D. Q is
sitting to the immediate left of P.
If D exchanges seat with Y and P
with Q, then who is sitting to the
immediate right of D?




Select the figure that will replace

the question mark (?) in the
following figure series.

9 AHIA BT IIT PN ol A= 3D
ﬁr—mﬁmaﬁ‘la(?)$w=rw
T2




Select the option that is related
to the third number in the same
way as the second number is
related to the first number and
the sixth number is related to the
fifth number.

12:16::18:7 : 24 : 64

99 fdped &1 999 X S A
& ¥ SN YeR Heea ' o
YHR THI &1 Ugell &A1 9 Heferd
g R B FE&T Umdl §&a W
Heferd 2|
12:16::18:? ::24 : 64

(a) 26 (b) 32
(c) 28 36
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Select the figure from among the
given options that can replace the
question mark (?) in the following
series.

(d)




In a certain code language,
CYTOSKELETON’ is written as

‘TYCKSOELENOT’,
‘MALNUTRITION’ is written as
‘LAMTUNTIRNOY. How will

‘ALLITERATION’ be written in
that language?

‘LAMTUNTIRNOI’ & ®U ¥ ford@r
ST & | ST |eT |
‘ALLITERATION’ &I f&9 yaR foran

TN,

(a) LLﬂll‘ITARHOI iy
(b) LLAETIATRNOI

>¢:) LLEATITARNOI
(d) LLAETITRANOI



C;I'

R - T eoU~

(a) I, U &T T9X B |
(b) A, T 3T HI B
(c) G,IW‘TI'&F%I

(d) R, A & Uit B

(a) I is the father-in-law of U.
\_J_b)—l\ is the maternal grandmother

of T.

(c) G is the brother of I.

(d) R is the

granddaughter of A.

paternal

A (@ B means ‘A is the sister of B’

A & B means ‘A is the brother of
B‘.I'

A # B means ‘A is the wife of B’

A " B means ‘A is the mother of B’
A + B means ‘A is the father of B’
fFA+G&I+R@S@T#U &YV,
then which of the following
statements is NOT correct?

A@B 3T 3 8 ‘A, BP! 989 2 |
A&BH I3 8 ‘A, BHT HTS & |
A#BHT 3 8 ‘A, B3 T & |
ANBHT A ‘A, BP | B

A+B& 3T ‘A, B fUar 2|

MEA+G&I+R@QS@T#U&YV
g, o fF=afofag § 9§ @F—a1 $oF
el 78l 8¢



Select a suitable figure from the
answer figures which would
replace the question mark (?)

S SUYH STIR-APIA BT TG DY
ol 1 erpfd—yaer 4wt (?)




(X)

Select the option figure in which
the given figure (X) is embedded
as its part (rotation is NOT
allowed).




Select the option that is related
to the third term in the same way
as the second term is related to
the first term and the sixth term
is related to fifth term.

24 : 840 :: 27 : ? :: 33 : 1452

99 fAPeq &1 9gq9 & o deN
& 9 9S4l UPR Hetd g o
THR TENI GET UEell W&l ¥ 3R
B3l G UiTdl HE 9 Heid 2|
24 : 840 :: 27 : ? :: 33 : 1452

(a) 756 (b) 297

_Jprioze (d) 729

©



Select the option figure that is
embedded in the given figure.
(Rotation is not allowed).

(b)




P 0 A

Iz ¢ »p alo p O]
a s clo 7 =]z Pla 2 ¢
N A

(b)

Which figure should replace the
question mark (?) if the series

were to be continued?

Ife

G SR Y& 8 @ v e

?) & WM W P Al AHfd A

ARG

= Z A
O 5 LC
a P C
= Z A
C 2 0O
o P C

)@l_

w)p

= C O
¢ 2 Z
A o []
= ¢ O

5 Z
A O




9;61‘16 =20

Which of the following
interchanges of numbers and
mathematical signs would make
the given equation correct?

729 x 81 + 20 + 16 - 6 = 50
Ry T wievor &1 §gfed o9 @
forg fe <1 wemi iRk 6 a7 RE

HI IWER IS BRTT?
729 x 81 + 20 + 16 - 6 = 50

\/tﬂ/ﬁ-and 20, x and +
(b) 20 and 50, + and -
(c) 16 and S0, x and +

(d) 16 and 20, + and ~



Select the option that is related
to the third term in the same way
as the second term is related to
the first term and the sixth term
is related to the fifth term.

6:136::8:?::12:568

¥ fdded &1 999 FX o R U5 9
S THR GafRd 7 O TUNT U URd
Ug ¥ |ed 7 3R BoT g uiEd ug

¥ Gefdd 2|
6:136::8:7: 12: 568

\_ef248
(b) 234%
(c) 244

(d) 288
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OPERA |[EOPAR

OERPA|[ROEAP

oR?EM

\JOEAPR

J/ORPEA

o| ORAEP

Select the figure from the options
that can replace the question
mark (?) and complete the given
pattern.

fadeul # 9 I B BT TGT BN
s g fae () @ ufoenfia o=

"ol & IR Ry 7 Yed < |1 &=
HaHa! B |



Select the set in which the
numbers are related in the same

way as are the numbers of the
given sets.

(NOTE: Operations should be
performed on the whole numbers,
without breaking down the
numbers into its constituent
digits. E.g. 13 - Operations on 13
into 1 adding/subtracting/
multiplying etc. to 13 can be
performed. Breaking down 13 into
1 and 3 and then performing
mathematical operations on 1 and
3 is NOT allowed)

(S, 30, 60)

(11, 66, 132)



S U &I 999 BN fOT9d G S99
TR GeRg & o fRy Y ¥ @
& 3 |

ey, Gl @ Sud Ued APl A
are fa=r| SeEvor & fog 13 — 13 &
1 ¥ Sieq /€S /O &R 3Mfe W
AT 13 H B O Fhah | 13 BT 1
IR 3 A arem iR R 1 3R 3 W
TR A s B gafa T8l

X6 X
g X (a) (6, 42, 148)
(S, 30, 60) 4, 84, 168)

e (s} (14, 16, 118)
XY Sid) (2, 10, 16)



Select the figure that will replace

the question mark (?) in the
following figure series.

I ATHIA BT T B o =feriead

AP s@ar # ue R (?) &1 wmE
oIl |




Which two signs and numbers
need to be interchanged to make
the following equation correct?
24—(9+12)+(34x4)+23 =43
frfaiea TfieRor o 98 9 @
fog f&7 @ R iR dEmei @
G afr{ ATEHAT 87 oy
24 -(9+12)+(84x4)+28=23

)ﬂ (a) 24 and 28, - and +

" 9(b) 24 and 28, x and +

Ac) 9 and 4, + and x

l/(tﬂ 12 and 4, + and x



Select the option that is related
to the fourth term in the same
way as the first term is related to
the second term and the fifth
term is related to the sixth term.

4:33:7?7:109 : 8: 257
9 fdde &1 999 N S O U 9
S UHR Heftrd & O Ugell US g
Ug | Hefd 8 3R UiEdl ug B3 UQ
Y Heferd 2 |
r 33 2P 109 ::_E_: 257

a) 5

Kxat1 w3 e

(A6 ﬁcs.{og Gq).(.c.ﬁ'/

(d) 7
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Select the option that is related
to the fifth letter-cluster in the
same way as the second letter-
cluster is related to the first
letter-cluster and the fourth
letter-cluster is related to the
third letter-cluster.

XPF : DLV :: VAN : FAN :: ERY : ?
99 e &1 Ig9 &N S UEd

JER—TIE ¥ SN YR Haftd & o

TN IWR-GYE UBl MR- W
Hafg & SR drRm ER—uHE dRR

mﬂﬁi VAN : FAN :: ERY : ?

(a) VIC

v QL
o i

(d) WIC



